
 

 

 

 

 

 𝑇 ( )  

 

 

𝑚1 𝑐2 (80  𝑇 )    𝑚2 𝑐1 ( 𝑇 10) 

 

𝑇  
 80𝑚1𝑐2 10𝑚2𝑐1 

 𝑚1𝑐2 𝑚2𝑐1 
 ( ) 

 

 

  𝑚1𝑐2  𝑚2𝑐1 (J/K) 

 

80   ( 𝑚1𝑐2  𝑚2𝑐1 ) (80 20)  60( 𝑚1𝑐2  𝑚2𝑐1 ) (J) 

 

 

 𝑐 (J/g K)  

 

 

𝑚3 𝑐 (100 35)         𝑚2 𝑐1 (35 25)  𝑚1 𝑐2 (35 25) 

 

𝑐  
 2(𝑚1𝑐2 𝑚2𝑐1) 

 13𝑚3 
 (J/g K) 

 

 

 𝑇 ( )  

 

 

𝑚5 𝑐3 (100  𝑇 )    𝑚4 𝑐1 ( 𝑇 20)  𝑚1 𝑐2 ( 𝑇 20) 

 

𝑇  
 20(𝑚1𝑐2 𝑚4𝑐1 5𝑚5𝑐3) 

 𝑚1𝑐2 𝑚4𝑐1 𝑚5𝑐3 
 ( ) 

 

 

    

               

             



 

 

 

 

 

 𝐿  𝐿0 (1  𝛼𝑡 )    ( 𝐿0 0 𝛼 𝑡 ( ) ) 

 

 𝛥𝐿  𝐿0𝛼𝛥𝑡  25 1.2 10−5 50  1.5 10−2 m 

 

 

 𝑉  𝑉0 (1  𝛽𝑡 )   ( 𝑉0 0 𝛽 𝑡 ( ) ) 

 

 𝛥𝑉  𝑉0𝛽𝛥𝑡  5.0 10−4 5.0 10−5 100  2.5 10−6 m3 

 

 


